
	
  

	
  

Name:___________________________	
   	
   	
   	
   	
   Period:________	
  	
  Date:_______________	
  
	
  

Solving	
  Two	
  Step	
  Equations	
  	
  	
  	
  Answers	
  	
  
	
  	
  
Section	
  I.	
  	
  Solve	
  for	
  the	
  variable	
  
	
  
1.	
  	
  	
  	
  	
  	
  4! + 3 = 27	
   2.	
  	
  	
  	
  	
  	
  7! − 6 = −20	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 6	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
	
  
3.	
  	
  	
  	
  	
  	
  3 ! + 5 = 27	
   4.	
  	
  	
  	
  	
  	
   !!!

!
= 6	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 4	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 14	
  	
  	
  	
  
	
  
	
  
	
  
5.	
  	
  	
  	
  	
  	
  17+ 3! = 26	
   6.	
  	
  	
  	
  	
  	
  8+ 9! = −10	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 3	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −2	
  	
  	
  	
  
	
  
	
  
	
  
	
  
7.	
  	
  	
  	
  	
  	
  −4 ! + 8 = −28	
   8.	
  	
  	
  	
  	
  	
   !!!

!
= 5	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −1	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 27	
  	
  	
  	
  
	
  
	
  
	
  
	
  
9.	
  	
  	
  	
  	
  	
  12! + 25 = −35	
   10.	
  	
  	
  	
  	
  	
  15ℎ − 9 = −54	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −5	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −3	
  	
  	
  
	
  
	
  
	
  
	
  
11.	
  	
  	
  	
  	
  	
  −7 ! − 3 = 42	
   12.	
  	
  	
  	
  	
  	
   !!!"

!!
= 7	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −3	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −9	
  	
  	
  	
  
	
  



	
  

	
  

13.	
  	
  	
  	
  	
  	
  8− 10! = −32	
   14.	
  	
  	
  	
  	
  	
  −16− 2! = −34	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 4	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 9	
  	
  	
  	
  
	
  
	
  
	
  
	
  
15.	
  	
  	
  	
  	
  	
  9 ! − 11 = −63	
   16.	
  	
  	
  	
  	
  	
   !!!"

!!
= −8	
  

	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 4	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 25	
  	
  	
  	
  
	
  
	
  
	
  
17.	
  	
  	
  	
  	
  	
  !

!
+ 13 = 17	
   18.	
  	
  	
  	
  	
  	
   !

!"
− 17 = −13	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 32	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ℎ = 60	
  	
  	
  	
  
	
  
	
  
	
  
	
  
19.	
  	
  	
  	
  	
  	
  	
  −12 2+ ! = −48	
   20.	
  	
  	
  	
  	
  	
   !!!"

!
= −4	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 2	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −18	
  	
  	
  	
  
	
  
	
  
	
  
	
  
21.	
  	
  	
  	
  	
  	
   !

!!
− 27 = −16	
   22.	
  	
  	
  	
  	
  	
   !

!!
+ 12 = 19	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −55	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −49	
  	
  	
  	
  
	
  
	
  
	
  
	
  
23.	
  	
  	
  	
  	
  	
  −8 7+ ! = 40	
   24.	
  	
  	
  	
  	
  	
   !"!!

!!
= −3	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −12	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 14	
  	
  	
  	
  
	
  
	
  
	
  



	
  

	
  

25.	
  	
  	
  	
  	
  	
  4! − 10! = 30	
   26.	
  	
  	
  	
  	
  	
  15! − 12! = −24	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −5	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −8	
  	
  	
  	
  
	
  
	
  
	
  
27.	
  	
  	
  	
  	
  	
  6 −15+ ! = −18	
   28.	
  	
  	
  	
  	
  	
   !!!

!!
= 2	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 12	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −23	
  	
  	
  	
  
	
  
	
  
	
  
	
  
29.	
  	
  	
  	
  	
  	
  	
  4! − 5 = −33	
   30.	
  	
  	
  	
  	
  	
  !

!
− 12 = −5	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −7	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 56	
  	
  	
  	
  
	
  
	
  
	
  
	
  
31.	
  	
  	
  	
  	
  	
  −10 −8+ ! = −90	
   32.	
  	
  	
  	
  	
  	
   !!!!

!
= −4	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 17	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −14	
  	
  	
  	
  
	
  
	
  
	
  
	
  
	
  
33.	
  	
  	
  	
  	
  	
  11 14+ ! = −66	
   34.	
  	
  	
  	
  	
  	
   !"!!

!!
= −8	
  

	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −20	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = 10	
  	
  	
  	
  
	
  
	
  
	
  
*35.	
  	
  	
  	
  	
  	
  2 3− ! = 10	
   *36.	
  	
  	
  	
  	
  	
   !!!

!"
= 2	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −2	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ! = −15	
  	
  	
  	
  
	
  


